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When the body cavity is not lined by mesoderm, instead the
mesoderm is present as scattered pouches between the
ectoderm and endoderm. This type of body cavity is known as—
(1)Acoelom (2) Pseudocoelom

(3) Shizocoelom (4) Enterocoelom

SURIRT TaeTSH T YUsSTSH & 919 faway g3 sl & U d
BN ], I SH IHR & I8 [T HEdTdl 8—

(1) ere=get (2) TR BB

(3) TSR (4) T

Which of'the following arthropods acts as a vector—
(1)Aedes (2)Laccifer  (3)Locust (4)Apis
o1 3 < BT sneifuTs Sig areds &1 T Brdl 8—
(TS Q)efimr )T (4)uftH
In planaria, excretion takes place through—

(1) Preen gland (2) Antennary gland

(3) Kebber’s organ (4) Flame cells

RIT # It fohdd gRIErar8—

(1) o= Tfert (2) TR Hfert

B)HAR BT (4) Saren BRIy

Which of the following bird is flightless—(Ratital)

(1) Pavo (2) Struthio  (3) Psittacula (4) Aptenodytes
o=t 7 <1 1T gefl SsTefad 8—(Ratitae)

(1) tan Q) 3)Rergen  (d)vEHrssed
The walls of blood vessels and air sacs of lung are lined by
which of the following epithelium—

(1) Columnar epithelium (2) Cuboidal epithelium

(3) Squamous epithelium (4) Ciliated epithelium
TaaaTRfeal @ Afka va el @1 Hfw] sidalRe wu &
SRR BIeH B8—

(1) TTATRR SUB AT (2) g TP R SUB AT

(3) TreepI SudBAT 4) Referics U@

Which of the following structures are included in connective
tissue—

(1) Cartilage (2) Bone

(3)Adipose & blood (4) All of these

o | BIE GRAEAT/ARAATE AT Sddh H 2T Y
ST 8—

(1) 3urfRer (2) =1fRer

(3) aaT ud et (4) SR T

Branching and presence of intercalated disc are the
characteristic feature of—

(1) Skeletal muscle (2) Smooth muscle

(3) Cardiac muscle (4) Non striated muscle
IR TdAT seidbocs fowp @1 IufRefy = & O fhaat
3rfIreTerfores ot 8 —

(1) wwmTeiraueh (2) = a=h

(3) ' u=h (4) sRRaaush

Which of'the following is an example of nucleosides—
(1) Uridine (2) Adenylic acid

(3) Cytidine (4)Both (1) & (3)

T ¥ | 1T Ueh eSS &1 SaTevv —
(H=aRfs= (2) efearsfors st
3)arsfes= 4) ()T (3) =T

Which of the following structure prevents the entry of food into
the glottis during swallowing—

(1) Epiglottis (2) Cardiac sphincter

(3) Nasopharynx (4) Hard palate

frr=faRad 3§ | =N G Wio fFrem & SR wdrfed
T WIS & T2l BT AU 8—
(1)Sums

(3) =TI

(2) w1y Rbarex
(4) Ry

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Which of the following enzymes converts the inactive
trypsinogen into active trypsin—

(1) Procarboxypeptidases (2) Enterokinase

(3) Succus entericus (4)HCI

fr=ferRaa 5 & = votrsH AfSpa SrafR=fs= &1 afsba
= # uRafda wsrarg—

(1) Mrepraffrarerssors (2) TERIFBTIZAS

(3) FapaTeRe| (4)HCl

Which of the following food nutrients does not digested in the
stomach—

(1) Protein (2) Carbohydrates
(3)Fat (4) None of these
frfaRad # & BIw NIve ggred &1 arae e # F81 81
Tt 8—

(Dyurfes (2)wrEiEsSS

3)==r (4 zTH A RIS TS
Airis transported through the alveoli walls by—

(1) Active transport (2) Diffusion

(3) Osmosis (4) Endocytosis
FHfUPHI AR -1 a1g BT uRas fhas gIR1erd a—
(1) =fra aReas (2) fra=or

(3) gvrERT (4) sfcarer=

The quantity of 500 ml in the respiratory volumes of a normal
human adult refers to—

(1) Residual volume (2) Total lung capacity

(3) Respiratory reserve volume(4) Tidal volume

TP AT AT 7 500 ml arg o1 S fdaepT FH=aiud s=ar

—

(1) 1) srraa= Q) BABHSI B AT
(3) TaE=1 TRfEra A= (4) TR AT
Heartis derived from which of the following embryonic layer—
(1) Ectoderm (2) Mesoderm

(3) Endoderm (4)None of these
i I e Yo wRa gRIgsa &1 Ao gare—
(1) TereTsH (2) s

(3)gsrsH (4 zTHA RIS TS
Membrane surrounding the heart is—

(1) Peritoneum (2) Epicardium

(3) Pericardium (4) Pleural membrane
TSI P AR B aTedl fereet Bkl 8—

(1) ufRerras (2) v Saw

(3) T ETH (4) avet g fereeh

Blood returning to the mammalian heart in a pulmonary vein
drains first into the—

(1) Venacava (2) Leftatrium

(3) Right atrium (4) Left ventricle

TATRAT B gaT H Yo g dAled g g RRT gRT
FAUH fohd Ueh TS H STAT STl 8—

(1) #eTfERT (2) 9 arrfeie |

(3) s enfeia # (4) a3 e #

Which of the following animals are ammonotelic—

(1) Terrestrial animal (2) Aquatic animal

(3) Aerial animal (4) All of these

frfaRad % - S Sig MR foTd B &—

(1) eI sig 2) sy
B)amdasig (4) U T

Inman, the urea is mainly produced in—

(1) Liver (2)Kidneys  (3) Gall bladder(4) spleen
H11a H, FRA1 &1 {FH701 g7 HEf 81 8—

(D)yzwma 2)gFm B)fomrem (4)=ifersr

The reabsorption of water in the kidneys is under the control of a
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20.

21.

22.

23.

24.

25.

26.

27.

28.

hiormone- 1) =g aer %) g
(1)STH (2)ACTH ~ (3)LH _(4HADH E3; w%ﬁj_;! 54; IR

FADT A ST BT GIRTGRNET 771 7 37 {62y &7 & =14 | 99 Gyollen & oblique placenta is characteristic of -
TR BT 8 — (1) Tomato (2) Tobacco
(1)STH ()ACTH  (3)LH (4)ADH (3) Petunia (4) All of the above

Which of the following part of a neuron stores the
neurotransmitter—

(1)Cellbody (2)Dendrites (3)Axon (4)All of these
=1 9 O =RE & g W RIgTaH ey Jafad 88—

() RrpIHra(2) Swsrse (3)t@rdg (4) SuRraT aHf
The organ of corti in mammals is found in—

(1) Vestibular canal (2) Tympanic canal

(3) Cochlear canal (4) Eardrum

AR H BIET BT ST faa+ gt ST 8—

(1) aResger AferaT (2) 1= @1 AfeTDT

(3) affer=terept 4)pHIIT

Islets of Langerhans produce a hormone which controls
diabetes mellitus—

(1) Insulin (2)Renin (3) Thyroxine (4) Cortisol
REH & U §RT ST ST BATT AgHE BT =
PRATE—

(Hsgferm Q)= (3) a1t (4) pifedrs

‘What is a hormone—

(1) A chemical messenger (2) Anenzyme
(3) An excretory product (4) Abyproduct
BHIAE, Teh—

(1) == arsd (2) =

(3) ScHSIT ST (4) e

Endocrine glands are those which pour their secretions directly
into—

(1) Ducts (2)Blood

(3) Both (4) Neighbouring cells

37T T U1 S8 a2, S STU=1 AT 0T A B Jad B
.

(1) =fTamreti g=T (2)RadgIRT

B)Fi B R (4) TSI HIRTHTERT

Blood does not clot inside blood vessels due to the presence of—
(1)Heparin  (2) Fibrinogen (3) VitaminK (4) Thrombin
=1 9 & forg uared &) SuReIfd & wRoT e &1 Xa arfef=rai
H oFapT ET I—

(HfzaRm Q)wfaas=3) A=K (4) onffe=
Bacteria reproduce commonly by—

(1) Endospores(2) Conjugation(3) Budding  (4) Fission
SNaTo] H ST 9 FdarT= fafe 38—

(1) sradrsiToy (2) |gvH 3) g (4) fgfawrs=
Which of'the following reproduce(s) by spores?

(1) Virus (i) Moss

(iii) Pine tree (iv) Birdnest fern
(1)iionly (2)ivonly
(3)iandii (4)iiandiv

T 3 A 1 T8 SIS §TRT UST=+ 6 8—
(1) farsmog (ii) |

(iii) =TS g&t (iv) TSR B
(1) waatii (Q)@asiv
(3)iTemii (4)iigermiv
Which of following do not have true roots?

(1) Conifers (2) Compound ferns
(3) Simple ferns (4) Mosses

o1 3 & forasi aafass o1 erguRRera gt 28—

30.

31.

32.

33.

34.

35.

36.

< o o~

R AT T AP JISITvSTHA b ST ST Aehdl 8—
(1)cHreR (WSEICA

(3) drefrran (4) SuRraRT |9
Consider the following features

a. Perianth 3+3

b. Tricarpellary, trilocular ovary

c. Axile placentation

d. Epiphyllous condition

These features are depicted by—

(1) Tulip (2) Colchicum
(3)Aloe (4) All of the above
=1 et TR faamR o —

a.uRea 3+3

b. rerosth qon Hepiftey srvsTera

C. W™ drAToS=aTd

d. uREeter= srazern

=T S&To1 1= UTeY gTRT &I STy 8—

(1) =zfera (2) wierferea

(3) va=ureT (4) SuRTaRT |

In which of the following plants endosperm is present in mature
seeds—

(1) Castor (2) Wheat (3)Coconut  (4) All the above
T 9 =17 Tl & TSIl | YTy Suferd Bl 8—
(1)eRvs 2)7", BRI (4) SURTaT |
A vessel element would likely lose its protoplast in which zone
of growth inaroot?

(1) Zone of cell division (2) Zone of elongation

(3) Zone of maturation (4)Rootcap

qdh o1 gfg & fFa uaer # dieTaRe &1 Wam?
O EINEIICEIN BN (2) rfRremT EreffmRoT uger
(3) uRuea= ua=r (4) =1 Mo

Which of'the following arise from meristematic activity?
(1)2°xylem (2) Leaves

(3) Trichomes (4) All of the above

=1 9 & fopast fsTor fAsaTas gRTEIAT 2 ?

(1) fg<haes Sirse™ (2) gvt

B)zEe™ (4) SuRTaT At

The cuticle of plant—

(1) Supports xylem & phloem tubes

(2) Is secreted by the cell wall

(3) Is specialized for reproduction

(4) Water proofs the epidermal cells

grey &) S —

(1) SIS AT FATYH ATABTIT BT FIA UGTH HRAT &
(2) T w1 g gRTEAa e 2
B)TsuszgfAlRrte gt g

(4) et IRt BT STet el a1 B

Ifacell contains anucleus, it must be a(an)—

(1) Plant cell (2) Animal cell

(3) Eukaryotic cell (4) Prokaryotic cell

IfE T HIRHTH B SURIT 8 d1 98 81 Fahail 85—

(1) urea wrfiresT (2) SigaTfRresT

(3) g RaTfes wpifRrET (4) M Rarfees wrfre
Substances produced in a cell and exported outside of the cell
would pass through the—

(1) E.R. and Golgi apparatus

(2) Mitochondria and Golgi apparatus
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37.

38.

39.

40.

(3) Nucleus and Lysosomes

(4) Vacuoles and Lysosomes

T gaTe] S Ueh BhIferehT H STad 8Th Bt & fFaia s
A=A A T gRIToNT—

(1) AT UGN STTfeTeRT 20T Hieoil 61

(2) gHBOTeRT T2AT Tieotl BT

(3) Bv=d qAT ATSATATH

(4) RferTepT gen g+

The major phenomenon and changes during cell division starts
within the—

(1) Cytoplasm (2) Nucleus

(3) Cell membrane (4) Outside the cell

HIfR1epT Ao & SIE wigzg yRad= d2n gea] w9
TR BI<H 82—

() ®f¥rmrgead Q)d=H

(3) rfRrenT fRreen & (4) PR & aTER |

Which is the longest and most complex phase during meiosis?
(1) Prophasel (2) Metaphase I1

(3) Cytokinesis (4) Telophase I

3= favToT o) e A den Fatfere sifee sraven 8?
(g1 (2)Femor Il

(3) 1R = faHTST= 4) fearssrl

In animal cells, hydrolytic enzymes are packaged to prevent
general destruction of cellular components. Which of the
following organelles function in this compartmentalization?

(1) Chloroplast (2) Lysosome

(3) Peroxisome (4) Central vacuole

Sig HIRTHTIRI B fAfa= STt STaeeAHmRI USTSH 0 991 &
o 59 ISTEHT 1 999 9 T P19 IR §1RT 3Tdg T
ST R?

(1) sRaeas O SIESIRSIR

(3) TR (4) e Rfages

Apparently is the source of energy for keeping
stomata open—

(1) Photosynthesis (2) Transpiration

(3) Ion transfer (4) Hydrogen bond formation
T 3 & I UehH T B Gl IEH & ford Holf & T &
U H Ugad BT 8—

(1) IpTerIZTYOT (2) eSS

(3) ST RATHTAROT (4) BT SIS g8 1 =707

ROUGH WORK
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